- What property of an algebraic structure allows for "a Polyak algebra" for that structure?
- Re-think the presentation of the topic of Polyak algebras.
- The details of "Red over Green Tangles".
- Is there a homomorphic expansion for r/g-tangles?

Projectivization of a group G:

$$G = \{g_1, \dots, g_K \mid R_1, \dots, R_0 \} \quad P = \{g_1, \dots, g_K \mid R_1, \dots, R_0 \}$$

$$G/I^{n+1} \cong \{g_i, g_{-i} \mid g_{ij} = 0\}, f_{ij} = 0\} \quad \text{Nords}$$

$$R_i / (g_i \Rightarrow g_{ij} + 1, g_{ij} = 0) \quad \text{Nords}$$

$$S \quad \text{(for "substitution rule")} \quad S$$

$$S \quad \text{(for "substitution rule")} \quad S$$

$$S \quad \text{(for "substitution rule")} \quad S$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} + 1, g_{ij} = 0)} = \{g_{ij} + 1, g_{ij} = 0\}, f_{ij} = 0\}$$

$$S \quad \text{(g_{ij} +$$

Replacing 1 with λ fails: failure of $(9+\lambda)(9-+\lambda) = 1 = 39-49 + 39-4 + 29-4 + 29-4 = 1$ and isomored $\Rightarrow 9-4 = 10-10 = 10-$

$$\overline{9_{192}} = (9_{1}9_{2} - \lambda) = (\overline{9_{1}} + \lambda)(\overline{9_{2}} + \lambda) - \lambda = (\overline{9_{1}}\overline{9_{2}} + \overline{9_{1}}\lambda + \lambda\overline{9_{2}} + (\overline{\lambda^{2}} - \lambda))$$

$$\overline{9_{192}} = (9_{1}9_{2} - \lambda) = (\overline{9_{1}} + \lambda)(\overline{9_{2}} + \lambda) - \lambda = (\overline{9_{1}}\overline{9_{2}} + \overline{9_{1}}\lambda + \lambda\overline{9_{2}} + \overline{\lambda^{2}} - \lambda)$$

$$\overline{9_{192}} = (9_{1}9_{2} - \lambda) = (\overline{9_{1}} + \lambda)(\overline{9_{2}} + \lambda) - \lambda = (\overline{9_{1}}\overline{9_{2}} + \overline{9_{1}}\lambda + \lambda\overline{9_{2}} + \overline{\lambda^{2}} - \lambda)$$

$$\overline{9_{192}} = (9_{1}9_{2} - \lambda) = (\overline{9_{1}} + \lambda)(\overline{9_{2}} + \lambda) - \lambda = (\overline{9_{1}}\overline{9_{2}} + \overline{9_{1}}\lambda + \lambda\overline{9_{2}} + \overline{\lambda^{2}} - \lambda)$$

But everything does work for "Algebraic Structures with Identity", assuming the set of generators is "invariant under (all) multiplications by (all) identities".

$$G/I \leftarrow G/I^{3} \qquad \overline{G}/J_{1} \leftarrow \overline{G}/J_{3} \cdots$$

G/I — G/I — G/I
$$\Rightarrow$$
 $G/J_1 = G/J_2 = G/J_3 ...$
 $I^n/I^{n+1} = \ker(G/I^{n+1} \to G/I^n) = \ker(G/J_{n+1} \to G/J_n) = : \text{kn}$

Let $O \to \mathbb{R}_n \to J_n/J_{n+1} \to G/J_{n+1} \to G/J_n \to G$